
Installation Instructions



Installation Instructions

TRIUMPH SPEED TRIPLE 1050 2016
TAIL TIDY

Product Reference - 13124

Kit Contents

1 x RH ArmA

1 x LH ArmB

1 x Licence Plate BracketC

1 x Cover PlateD

1 x LED Light UnitE

1 x Wiring ConnectorF

1 x ReflectorG

1 x Reflector BracketH

2 x M5 - 12 Countersink ScrewsJ

2 x M3 - 12 Buttton Head ScrewsK

2 x Male Bullet ConnectorsL

5 x M5 - 12 Buttton Head ScrewsM

5 x Cable TiesN

2 x M6 - 16 Cap Head ScrewsI



1Installation Instructions



2Installation Instructions



3Installation Instructions



4Installation Instructions

Star washers require cutting to remove.



5Installation Instructions



6Installation Instructions



7Installation Instructions



8Installation Instructions



9Installation Instructions

B

A



10Installation Instructions

I

I



11Installation Instructions

E
C



12Installation Instructions

K

K



13Installation Instructions

J



14Installation Instructions

Run wires neatly along the chanel in the RH arm



15Installation Instructions

J



16Installation Instructions

M



17Installation Instructions

N

N



18Installation Instructions



19Installation Instructions

OEM PARTS
OEM PARTS



20Installation Instructions

M
M

M

M

D



21Installation Instructions

F

L

E



22Installation Instructions

Reverse Stage
2 & 1



Reflector Bracket Installation



Installation Instructions

After installation of your tail tidy ensure that the licence 
plate does not contact the rear tyre when 

suspension is fully compressed.
Ensure all electrics including indicators, tail light, brake light 

and licence plate light lights are working correctly 
before riding the motorcycle.

It is recommended that periodic inspections are made 
to ensure that all fixings are fully tightend. 



www.evotech-performance.com


